= o
A & 0l & AF 2 E A A
20158 = S0la LS H JIEISERH, SISLSESH HEFH
SN LM
M B0l Y= 4, =S = OIE
Sl YHBES AEXH CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ey 29,555,625 29,490,922 64,703
= 7,725,410
X 1,966,000
J| 10,573,667
< 9,290,548
=0l A= HY, =S F= IS 21,448,916 19,051,626 2,397,290
= 6,440,760
J| 8,006,546
< 7,001,610
LHES Atslxd 3,288,944 2,060,570 1,228,374
OEEMAE A 36,500 35,000 1,500
201 Let24d] 26,000 26,000 0
01 At 22/l 26,000 26,000 0
Ot & =2l 26,000
203 R =&t 9,000 9,000 0
03 AIMF=XH R =AY 9,000 9,000 0
OUEBHADLET 3,000
ondHugs=a 6,000
405 XHobF S HI 1,500 0 1,500
01 et EZFH S 1,500 0 1,500
OLESR 7Y 1,500,000& = 1CH 1,500
e adst 141,570 148,000 AN 6,430
307 glz2tol & 141,570 138,000 3,570
11T MISXASEX 141,570 0 141,570
s=0dUzl 10,000
Os=0Y A&2s AZ3l 28,000
oM T A2 & X 30,000
OndF2tAr e 33,570
oXgn4deld 8K 10,000
Os=04dxd 30,000
dESEMN 2435 55,000 46,000 9,000
201 Let249] 25,000 10,000 15,000
01 At 22l 10,000 10,000 0
OLdgIe=z48EI ME 1= 10,000
03 &AL2 Z I 15,000 0 15,000
oxdEs EE3 15,000
307 21201 A 30,000 30,000 0
04 QIZFSHALAIR B &= 30,000 30,000 0
O&=0E 23N 30,000
AOLE Dicie St 28 3,038,674 1,758,000 1,280,674




Ol & & = 2
B0l A= o4, BE=S Fe
YHBS MEIEH CREED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 A& HIZ 201 I 3,038,674 1,758,000 1,280,674
01 A& HI 3,008,399 1,714,800 1,293,599
OAl &I 3,008,399
02 Zeltl 24,170 34,500 A 10,330
OZeltl 24,170
03 Al S THHI 6,105 ,700 A2,595
OA &=l 6,105
=2 HE&s s XNJAY 17,200 40,000 222,800
201 et 17,200 26,000 A 8,800
01 At 22l 12,600 10,000 2,600
O&zlstE SLIHEH 2Y 5,400
OLHdHEE st& HEMH 7,200
03 &Ar2 I 4,600 16,000 A 11,400
Odzste 2LIHEH /A3S 4,600
Hd 2o 4 2,685,813 2,428,163 257,650
= 180,371
J| 2,011,477
< 493,965
rE=Z" &X ¥ Ok X 520,282 431,635 88,647
J| 417,284
< 102,998
301 et A3z 15,840 15,840 0
J| 7,920
= 7,920
09 AL HIE &S 15,840 15,840 0
O ZH2AAE SMI US 15,840
J| 7,920
< 7,920
308 XX EHHSOIA 454,567 408,295 46,272
J| 376,114
< 78,453
01 IXNHHBNEES 454,567 408,295 46,272
ONE=gIdik BEsAd 29 299,472
J| 246,624
< 52,848
OJtE = Toll A MAHH X2 10,000
J| 10,000
OZHANHAEFHAE At 24,820
J| 20,440
< 4,380
OJE =Y Lol A Xzs= 72,857
J| 60,000
< 12,857
ONE =Y Haik 2=t 29,143
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M B0l Y= 4, =S = OIE
Sl oy Aol BT (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
J| 24,000
< 5,143
ONE =Y Ok HgEsadl 18,275
J| 15,050
< 3,225
403 UHXISHHE X201 H 49,875 7,500 42,375
J| 33,250
< 16,625
01 X EHHMAZLE L 49,875 7,500 42,375
ONEZZINNESAE JIsELAY 49,875
J| 33,250
< 16,625
IIEESH - 4= Dlolsl= & HESEX A 94,444 0 94,444
J| 77,777
< 16,667
308 XX EHSOIA 94,444 0 94,444
J| 77,777
= 16,667
01 IXNHHNBNEES 94,444 0 94,444
OJE =Y Jtol At WEXZ 58,812
J| 48,433
= 10,379
Od=Z4d Dol A n¥X & 35,632
J| 29,344
< 6,288
d== &R & Ok XI& 1,690,191 1,703,981 A 13,790
9] 1,413,030
< 277,161
308 X EHHSOIA 1,686,441 1,696,256 29,815
9] 1,410,530
< 275,911
01 HIXNHHBMNEELS 1,686,441 1,696,256 N9,815
O=sg &4 29 83,794
J| 55,863
< 27,931
Od=8 dEga 29 230,865
Il 153,910
S 76,955
ONE=E" oga 2 157,601
J| 105,068
< 52,533
Od=Z4 LloHA EsAE 29 269,786
J| 223,099
= 46,687
O&=% IlohA Xzsl= 45,657
J| 37,600
< 8,057




R E

M3 2Ol UL 014, BEE E= JiE
Sl oy Aol BT CEEEED
SA B ER(EN) - AR - BES of & o4 San HIDZ2
O&ZY Ioi it 2z - 2t8H X & 101,988
l 83,990
< 17,998
O4d=Zd Ik sSKd 6,500
Jl 6,500
OAASXNAME 29 259,250
Jl 213,500
& 45,750
OdligtetlIOtSHE 2 531,000
Il 531,000
403 TR M SA=01A 3,750 7,725 A 3,975
Il 2,500
= 1,250
01 HXSHH =R 3,750 7,725 A3,975
OLZLIINNESAIE JIsE2 3,750
Jl 2,500
S 1,250
OOt SEAYE HdeAN= 40,000 0 40,000
= 40,000
308 XXM S0l ™ 40,000 0 40,000
= 40,000
01 HXHBAEES 40,000 0 40,000
OZlotsSEAE deldus 40,000
= 40,000
OS - GIMOIE NAH2SY (NT) 7,200 7,200 0
Jl 3,600
S 3,600
201 LBt2EH 7,200 4,800 2,400
Jl 3,600
S 3,600
01 At 22l bl 7,200 4,800 2,400
O0ts - ddatd RFHdU=29g 7,200
Jl 3,600
= 3,600
Ofs - ddotd XA 2g (X) 43,200 43,200 0
Il 43,200
308 At XM SO0l & 43,200 43,200 0
Il 43,200
01 XM BaE2ES 43,200 43,200 0
O0ls - ddetd X9 lied 43,200
Jl 43,200
Ots X E HMA X 23,411 30,202 A6,791
= 18,011
S 5,400
308 XXM S0l ™ 23,411 30,202 A6,791
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B0l A= 014, B=S T OIS
oy e B

4,244

- _ _ RE]
CEE B (BH) - HBAY - BAS %Eﬁ HR=2

= 18,011
= 5,400

01 IIXHHIMNEXS 23,411 30,202 AB,791
OoOts otE™EXE M&E X3 23,411
= 18,011
& 5,400

gotMEZ)HSA 23,640 0 23,640
= 15,760
= 7,880

308 XX SHAHSOIH 23,640 0 23,640
= 15,760
o= 7,880

01 AIXSHMENMNEXZ 23,640 0 23,640
OXgeotdEz ey 23,640
2 15,760
= 7,880

SOHOHIIGH A M EA 29 102,900 ,500 A 600
= 68.600
& 34,300

308 XHXIGH SO0l & 102,900 ,500 A 600
= 68,600
o=t 34,300

01 AIKISHHENEXZ 102,900 ,500 A 600
OXSOHOHTI A A A 29 102,900
= 68,600
& 34,300

SOHOHIIGH KF 2 E=X& AFLS 9,715 715 0
2 8,000
= 1,715

308 MXISHMSOIA 9,715 715 0
= 8,000
=} 1,715

01 IXHAHIMNEEXTZ 9,715 715 0
OXSOHOHIIGH A 2EXS AL 9,715
= 8,000
& 1,715

SEOHQ AtSIEOIZT X 60,830 230 25,400
J| 56,586
= 4,244

308 XAHXIEHSOIA 60,830 ,230 N5,400
Jl 56,586
= 4,244

01 AIXSHMEMNEX= 60,830 ,230 N5,400
OAd &2 AlSIEHWEW K& 60,830
56,586




R E

M B0l Y= 4, =S = OIE
Sl oy Aol BT (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
HEE" eEns 4,000 0 4,000
201 24l 4,000 0 4,000
01 At 2t 2l 4,000 0 4,000
O3&T 35 400, &= 1= Y
= 4,000
IHEEY dEL 29 6,000 9,000 A 3,000
308 A EHHSOIA 6,000 9,000 A 3,000
01 HIXNHHNBHEELS 6,000 9,000 A 3,000
ONE=E" o8a 2 6,000
HEZH TOoil Xt Atell2tel XI& 9,000 10,000 A 1,000
307 gl & 9,000 10,000 A1,000
11T M3 Z2XASE EX 9,000 0 9,000
OW& == Hioi X At 2tel XI& 9,000
HE=ZHIoHA AESA X 6,000 10,000 A 4,000
308 XtXIEHH SOl A 6,000 10,000 A 4,000
01 AXHHILEES 6,000 10,000 A 4,000
O&=ZHIoHA HAESsA XA 6,000
gy N2 29 45,000 0 45,000
= 30,000
< 15,000
308 MtXIEHSOIH 45,000 0 45,000
= 30,000
= 15,000
01 HXNHHNBHELS 45,000 0 45,000
OFgugduns XNAX2I222 45,000
= 30,000
< 15,000
(GRSRelESPNTED) - 3,086,605 2,992,256 94,349
= 1,913,081
J| 57,600
=) 1,115,924
HEMZLaIIXNA=2E 29 1,498,482 1,431,916 66,566
= 932,841
= 565,641
307 glz2tol & 1,498,482 1,431,916 66,566
= 932,841
S 565,641
11T M 2XAS EX 1,498,482 0 1,498,482
ESHEMZLoIIHMH(MHE) 2 310,464
= 155,232
= 155,232
OMEZoE e 420,000




LR Lk

M BO| U= M, B=g == JIIE
S B EEP Bl (298 R)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= 336,000
< 84,000
OO0l FHIEXNA MUA HS 516,672
= 258,336
< 258,336
OF Y At=2e XEAY 122,346
- 61,173
< 61,173
OXgussd 115,200
= 115,200
OFexg= & sdHYE s &2l 13,800
= 6,900
< 6,900
HEMZLOIIHEH 22 955,240 943,723 11,517
= 955,240
308 XXM S0 A 955,240 943,723 11,517
= 955,240
01 AXNSHHBLAEES 955,240 943,723 11,517
OMZOHEAE 259,200
= 259,200
OF0tIHeE HEXNE AL WS 224,640
= 224,640
OFYI At=2el XFAY 55,000
= 55,000
OXgussd 410,400
= 410,400
Oxoxed= & SHHEY S &34l 6,000
= 6,000
GCHMAHCIHOHE HIEH RI& 32,500 32,500 0
= 25,000
= 7,500
308 XXM S0l A 32,500 32,500 0
= 25,000
< 7,500
01 IXNHHBNEES 32,500 32,500 0
O HIHOHEHEH XI& 32,500
= 25,000
< 7,500
ZE0/QR NALXel HeotH 63,600 60,000 3,600
| 57,600
< 6,000
307 21201 A 30,000 60,000 A 30,000
| 24,000
< 6,000
11 AMSSIAIEE S 30,000 0 30,000
OZE0I20Y AEH (YY) 30,000
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CESESE

=

M B0l Y= 4, =S = OIE
SR PP (29l & 2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
J| 24,000
= 6,000
308 XHXIGH SO0l & 33,600 0 33,600
J| 33,600
01 AIKISHHENEXZ 33,600 0 33,600
OZ&E0120dH Qe (AlZ) 33,600
Jl 33,600
HEL NS ME XK (IA) 227,397 227,397 0
307 QI2t0| & 227,397 227,397 0
11 Al EXAIEEX 227,397 0 227,397
OFF0HAHENLHYH 29 227,397
S=0H4HoEM 29 155,386 121,080 34,306
308 AMXIESHMSOIA 155,386 121,080 34,306
01 AIXSHMEMNEXZ 155,386 121,080 34,306
OF=0H4HEM &=t 155,386
AL FSEXNIUEAITZ2 L3 40,000 40,000 0
307 2iz2to| A 40,000 40,000 0
11T A EXAIEEX 40,000 0 40,000
OZ9HEAIEXNE WERD 8435 40,000
HAEFSXNNSJEE K& 114,000 87,640 26,360
308 XAXIGHHM SO0l & 114,000 87,640 26,360
01 IXHHNIMNEXS 114,000 87,640 26,360
OAEFSXNIFALAH K& 79,000
OXNYYLSZY Mgussd 35,000
ALINEEH 12,387,554 11,570,637 816,917
= 4,347,308
J| 5,937,469
& 2,102,777
ALINAEXNJALEH 29 381,911 374,173 7,738
=2 293,778
& 88,133
308 XHXIEH SOl A 381,911 374,173 7,738
=2 293,778
& 88,133
01 AIXISHHEMNEX= 381,911 374,173 7,738
OAHALINEXNHEH 2 381,911
= 293,778
o= 88,133
2=20lLsH AIY 63,200 63,200 0
= 56,000
= 7,200
308 NXICSHHMSOIA 63,200 63,200 0
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g 30| U=s oY, e=s= F= IS
ool AYNFEY EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 56,000
< 7,200
01 AXHHIYEES 63,200 63,200 0
O3s=E0tUsH At 63,200
= 56,000
S 7,200
R ¢ Hdla & ALIHE X4 30,000 15,000 15,000
307 21201 A 30,000 15,000 15,000
02 It S AHE L 15,000 0 15,000
OJ=&s &2 & X 15,000
11T MISXASER 15,000 0 15,000
OR29 ¢ #AXH 15,000
SHRERIIE JH2d=H S N2 3,407,400 2,435,400 972,000
J| 3,028,800
< 378,600
308 MHXIEHMSOIH 3,407,400 2,435,400 972,000
J| 3,028,800
< 378,600
01 X HHILEES 3,407,400 2,435,400 972,000
OtR2IE HHLsH 5 XA 3,407,400
J| 3,028,800
< 378,600
StREEIIE SXNAE N3 AY 84,285 12,900 71,385
J| 65,390
< 18,895
308 AXIEHHSOIA 44,850 12,900 31,950
J| 39,100
< 5,750
01 HIXNHHNBMNELS 44,850 12,900 31,950
OBR2IIE SNAE YaX &4 - AZHIX
2 17,250
J| 11,500
< 5,750
Oblgs=22 =AHAXNEH 27,600
J| 27,600
403 MtXISHHE X201 E 39,435 0 39,435
J| 26,290
< 13,145
01 XS M A=2EE 39,435 0 39,435
OtRZ2IIEANE JIsEZ 39,435
J| 26,290
= 13,145
st X & 517,719 457,339 60,380
201 Let24d] 2,000 0 2,000
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515,719
235,080
260,761
18,378
1,500

268,892

246,827

OtolE= X &

o

4,062,255
3,582,950

479,305

3,665,473

396,782

307 glztol &

oy

88,760

62,132
26,628

88,760

1A SXAIE E =
Ootol=sAE 29HE I

fad

il
20
02

W

88,760

88,760

62,132
26,628

88,760

308 MHXIHM S0

o

3,973,495
3,520,818

452,677

3,576,713

396,782

01 AR SHHBaEx
OOotol == X & At

oy

R

o

,973,495
3,973,495
3,520,818

452,677

3,576,713

396,782

=T LS N AL

oW

269,250

179,500
89,750

272,250

A 3,000

308 MHtXIEHHMS0IH

oy

269,250

179,500
89,750

272,250

A 3,000

01 AXHHBAEES
=

OFots H2s NEAY

Rt

269,250

269,250

179,500
89,750

272,250

A 3,000

S

H

108,602

88,202
20,400

123,335

N 14,733

J|

H

108,602

88,202
20,400

123,335

N 14,733

Il

108,602
71,102
63,202

123,335

A 14,733




2 882
M B0l Y= 4, =S = OIE
ool AYNFEY EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
[ 7,900
Odgg DIE: - XX 2K 37,500
J| 25,000
= 12,500
nee X X 20,000 10,000 10,000
307 QI2t0| ™ 20,000 10,000 10,000
11 A EXAIEEX 20,000 0 20,000
OonlEe jetsty 2AE XA 20,000
CI23IIIESXN M 29 2,414,218 2,773,693 A 359,475
9] 2,126,642
& 287,576
308 AHXIEHSOIA 2,414,218 2,773,693 A 359,475
Il 2,126,642
& 287,576
01 AIXSHMENMNEX= 2,414,218 2,773,693 A 359,475
OURINEXNALMY 2H(XHHH) 2,161,898
J| 1,915,606
& 246,292
OURIN=ENALMYH 2I(HEHH) 34,336
9] 24,035
& 10,301
Ost=20ns 2 ANIAALE 211,044
J| 187,001
= 24,043
OUES3INEXNKHE SALA HRHA 6,940
CIE23IIE o & s H 610,666 645, 142 N34,476
J| 527,331
o= 83,335
308 AMXISHMSOIA 610,666 645, 142 N34,476
J| 527,331
= 83,335
01 AIXSHMENEXZ 610,666 645, 142 N34,476
OUSSIE NE eI R 313,566
J| 277,843
& 35,723
OZE0|12X & - HIEAHI A 220,075
Dl 181,238
o= 38,837
O0lEsd Jt=8d8 =4 77,025
J| 68,250
& 8,775
Zd0o 0= d A& 122,768 114,871 7,897
J| 101,104
= 21,664
308 XHXIEHSOIA 122,768 113,657 9,111
J| 101,104




2N

0x
04
):4:|
B

o4 2
M BO| U= M, B=g == JIIE
Sl AUNYSY CERED
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
< 21,664
01 IXNHHBANEES 122,768 113,657 9,111
OZ4llol OIFHE EsAd 29 122,768
Jl 101,104
< 21,664
Ct=2shots X& 34,200 34,200 0
201 Let24d] 15,200 15,200 0
01 At 22l 15,200 15,200 0
OUEIaIE AAR &2t 15,200
307 glz2+ol & 9,000 9,000 0
11T MISXASEEX 9,000 0 9,000
OUZRaINFXNE A2 &8s H= 9,000
308 XtXIEHH SOl A 10,000 10,000 0
01 X HHILEES 10,000 10,000 0
OtU=2sIt= stots =M X3 10,000
Sgolg=2 X& 26,000 26,000 0
307 21201 A 10,000 10,000 0
02 LB MAA BT 10,000 0 10,000
O=solgFD HSAEA X8 10,000
308 XXM SO0 A 16,000 16,000 0
01 HIXNHHBNEES 16,000 16,000 0
O=s&tolg=8 FEXHAY 16,000
SE0IEg=F0 NGHSHH 29 220,080 226,900 26,820
= 220,080
307 21201 A 220,080 226,900 26,820
= 220,080
02 YAFAAHEE 220,080 0 220,080
O=ssolg=0 NGRS HH 29 220,080
= 220,080
Se0lE8F2XA KNI 243 15,000 15,000 0
= 15,000
201 Let249] 3,000 1,700 1,300
= 3,000
01 At 22/l 1,100 700 400
Ok XN9gos o 1,100
= 1,100
03 &Ar2 I 1,900 1,000 900
Ok XN9g2sl #A2E 1,900
= 1,900
308 XtXIEHHSOIA 12,000 13,300 A 1,300
= 12,000




SN LM
g 30| U=s oY, e=s= F= IS
ool AYNFEY EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 AXHHILEES 12,000 13,300 A 1,300
OAZE2s d&dEx=s 12,000
= 12,000
a2 8,029,261 10,362,472 A2,333,211
= 1,284,650
Xl 1,966,000
J| 2,567,121
< 2,211,490
FadUAM=YH 3,563,844 6,479,760 A2,915,916
= 507,200
Xl 1,966,000
J| 205,690
< 884,954
FAE=IMUF 48,000 36,000 12,000
307 21201 A 48,000 36,000 12,000
11T M3 SXAISEEX 48,000 0 48,000
O&FAYE I ML=R 48,000
MNEZAEUEWRARA;S 24 10,000 8,000 2,000
J| 5,000
< 5,000
307 2201 A 10,000 8,000 2,000
J| 5,000
< 5,000
11 ALS S XALEE = 10,000 0 10,000
OANEZEAEFHARAS 29 10,000
J| 5,000
< 5,000
ANEEAEHENHRRE 29 5,600 5,600 0
J| 5,600
308 XXIEHSOIA 5,600 5,600 0
J| 5,600
01 HIXNHHBNEES 5,600 5,600 0
OXNgEAHENRRE 2¢ 5,600
J| 5,600
FadE & B0tE SAH 10,000 10,000 0
307 21201 A 10,000 10,000 0
11T MISAASEX 10,000 0 10,000
O&¥AE g stitg A 10,000
= MO el Had &It 15,000 15,000 0
307 21201 A 15,000 15,000 0
11T AL S XA E X 15,000 0 15,000
O=HMOotgtHa Ha4 &It 15,000
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g ’SZ‘;;‘.\%%@P
Chelr HAEATSA CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
FAUEN &8s 208 2H 40,000 40,000 0
307 glz2tol & 40,000 40,000 0
11T M SXASEEX 40,000 0 40,000
OFAHEHN &8s T2 29 40,000
HdMAZ= DEZx2 8 X2 40,000 0 40,000
2 20,000
< 20,000
307 21201 A 40,000 0 40,000
= 20,000
< 20,000
11T MISRASEX 40,000 0 40,000
Ol MAEZ= WEEZZ]H K& 40,000
= 20,000
= 20,000
FAUEEENEY 35 NE 600,000 615,000 A 15,000
= 180,000
< 420,000
307 21201 A 600,000 615,000 A 15,000
= 180,000
< 420,000
11T AL S XA E X 600,000 0 600,000
OFE=EHFALISENER 85 NE 600,000
= 180,000
< 420,000
a4 23 & 155,440 165,440 0
= 107,200
< 48,240
308 XX ©H A S 0 155,440 155,440 0
= 107,200
< 48,240
01 IXNHHBNEES 155,440 155,440 0
O&FEaY HSE0tY 22XA 138,040
= 95,200
< 42,840
O&dA4d Sotel s 17,400
= 12,000
< 5,400
HidSEAE NESX NA(XH) 163,440 169,280 A5,840
J| 163,440
308 X EHSOIA 163,440 169,280 A5,840
J| 163,440
01 HIXNHHBMNEELES 163,440 169,280 A5,840
Odxd+8ANE NEA X3 163,440
J| 163,440
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L= B

el

H - Bl (3 M) - MR - B il Bl RE2

28 sEZ2 Y 29 16,650 17,000 A 350
J| 16,650

308 XX EHHSOIA 16,650 17,000 A 350
J| 16,650

01 HIXNHHBNEES 16,650 17,000 A 350
OFAYE Z2]) 16,650
J| 16,650

FAadsEALE 2ERAXE 15,000 15,000 0
J| 15,000

308 XXIEHHSOIA 15,000 15,000 0
J| 15,000

01 AXHHILEES 15,000 15,000 0
OFadxEHAE 2E92 15,000
J| 15,000

AESFNE ZTZ2)H 285,714 285,000 714
= 200,000
< 85,714

307 21201 A 285,714 285,000 714
= 200,000
< 85,714

05 BIZHRI & 3 285,714 285,000 714
o224 gdu=s 227y 285,714
= 200,000
< 85,714

ANEtS EAENF g4 20,000 20,000 0

307 glz2tol & 20,000 20,000 0

11T M Z2XASEX 20,000 0 20,000
OEt Al - &=2t9 A 20,000

SSELESHEALE JIsSE ,966,000 4,188,000 A 2,222,000
Xl ,966,000

403 MtXISHHE X201 E ,966,000 4,188,000 A 2,222,000
Xl ,966,000

01 X SHHA2E = ,966,000 4,188,000 A2,222,000
OZB3F3a2dEHA IsE2Z ,966,000
X ,966,000

StHSH FAY XNFAY 163,000 108,000 55,000

307 21201 A 55,000 0 55,000

11T AL SXAEE =X 55,000 0 55,000
OstgscH(an=Ed) dadE AL (HE) 55,000

308 XX EHSOIA 108,000 108,000 0

01 HIXNHHNBNEES 108,000 108,000 0
OstgstH(atn=e) K2 A (X&) 108,000




2N

M BAEAB Y
CHelr HAUATRY (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
Otsd8AEZd XA 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
11T M SXASEEX 10,000 0 10,000
OotsdA~EXZY K& 10,000
FAUEESHEE 4,465,417 3,882,712 582,705
= 777,450
J| 2,361,431
< 1,326,536
HIstde XA (YY) 301,800 280,000 21,800
J| 150,900
< 150,900
307 glz2+ol & 301,800 280,000 21,800
J| 150,900
< 150,900
05 RIZt2IE = 150,900 280,000 A 129,100
O0ls8 4E3tdH 22 XA 150,900
J| 75,450
< 75,450
11 ALS S XAEE = 150,900 0 150,900
O&ZstdH 2 XA 150,900
| 75,450
< 75,450
HIstde 2R (XA) 75,450 70,000 5,450
J| 75,450
308 Xt x| EHX S0 & 75,450 70,000 5,450
bl 75,450
01 IXNHHBNEES 75,450 70,000 5,450
Od=Zstde 2LX& 75,450
J| 75,450
FAdURolSZ AL E2AXF & 238 2 8,000 8,000 0
= 4,000
< 4,000
307 21201 A 8,000 8,000 0
= 4,000
< 4,000
11T MISXASEEX 8,000 0 8,000
OFadRoiEtF2ZAHY XNAE2As 2HXA 8,000
= 4,000
< 4,000
AU RoHSIZAIY 820 X2 26,000 29,028 A 3,028
= 26,000
307 gl2tol & 26,000 29,028 A 3,028
= 26,000
11T M SXAISE EX 26,000 0 26,000




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

OFadRoiatdZAz 8322 N& 26,000
= 26,000

FAERWSIZAE 24 22,500 22,500 0
= 15,000
= 7,500

308 XtXIEHH SOl A 22,500 22,500 0
= 15,000
< 7,500

01 HXNHHNBHELS 22,500 22,500 0
OFadRoiatdZAHY 29 22,500
= 15,000
< 7,500

HAE &2H 2SN (YY) 107,962 107,500 462
J| 53,981
= 53,981

307 glz2tol & 107,962 107,500 462
J| 53,981
< 53,981

11T M SRASE EX 107,962 0 107,962
OdaddEH 2SN (HY) 107,962
J| 53,981
< 53,981

HAE dH 2R (XH) 429,640 468,271 A 38,631
J| 330,492
< 99,148

308 XXM SOl A 429,640 468,271 A 38,631
J| 330,492
< 99,148

01 X HHIYEES 429,640 468,271 A 38,631
OFardaEH 2 X (XE) 429,640
J| 330,492
< 99,148

HAE SENIMARZ (YY) 418,500 399,400 19,100
J| 233,700
< 184,800

307 21201 A 418,500 399,400 19,100
J| 233,700
= 184,800

11 AL SXAEE = 418,500 0 418,500
OBLHSEXNZEMA 5 418,500
J| 233,700
< 184,800

HAE SENIMARAS(XNE) 513,000 480,000 33,000
J| 513,000

308 X EHSOIA 513,000 480,000 33,000




2N
X ZH -
L= B

el

GRSES

a Z

A

()

My o oA
HL 1@ 2
jor 0w iy

i o

B4

SA - BB B () - MM - BES Ol &t o San HmEET

J| 513,000

01 IXNHHBANEES 513,000 480,000 33,000
OHEAUSEXNENA 2= 513,000
Jl 513,000

FLHAE ALY 423,000 423,000 0

307 21201 A 423,000 423,000 0

11T AL SXAEE = 423,000 0 423,000
OFAGLUE XA ALY 423,000

SHNZZNE2INA(ZY) 237,380 230,764 6,616
J| 118,690
< 118,690

307 glz2tol & 237,380 230,764 6,616
J| 118,690
= 118,690

11T M SRASE EX 237,380 0 237,380
OsX Ty 2N 237,380
J| 118,690
< 118,690

SHNZ2 XSS XE (X&) 111,260 83,449 27,811
J| 111,260

308 XXIEHHSOIA 111,260 83,449 27,811
J| 111,260

01 IXNSHHBANEES 111,260 83,449 27,811
OsgX 2238 22X 111,260
J| 111,260

st gt HAE X2 (HAY) 215,940 209,600 6,340
J| 151,158
< 64,782

307 21201 A 215,940 209,600 6,340
J| 151,158
< 64,782

11T AL S XA E = 215,940 0 215,940
Osgtw & 44 XA 215,940
J| 151,158
< 64,782

st gt HAE X2 (X&) 562,800 136,500 426,300
J| 562,800

308 XX EHH SOl A 562,800 136,500 426,300
J| 562,800

01 HIXNHHBNEES 562,800 136,500 426,300
Ostn & a4 X 562,800
J| 562,800

a4 2us 23X& 952,185 934,700 17,485
= 732,450




SN CEEBB
R R PNEp
& FAHESHE (chel & 9l)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

< 219,735

308 XtXIEHH SOl A 952,185 934,700 17,485
= 732,450
< 219,735

01 IXNSHHBANEES 952,185 934,700 17,485
O&EAE &ts 23X 952,185
= 732,450
< 219,735

FLESENA A (XEH) 60,000 0 60,000
J| 60,000

308 XXIEHH SOl A 60,000 0 60,000
J| 60,000

01 HXNHHBHELS 60,000 0 60,000
OFAUEEXE At Y 60,000
J| 60,000

HE2IZH (LT ) 77,448 76,824 624

Jl= &l 77,448 76,824 624

Jl=dl 77,448 76,824 624

201 Let24d] 21,288 20,664 624

01 At 22l 21,288 20,664 624
OJle=+=&Hl 8,688
OPIE=1i:] 12,600

202 odl 45,360 45,360 0

01 SLHOIYI 45,360 45,360 0
OJlEdl 45,360

203 YR =&l 10,800 10,800 0

01 122 =4 6,600 6,600 0
OngE =2 6,600

04 EASIYRFLH| 4,200 4,200 0
onddaa 4,200




